Algebra I 30 Question Common Assessment October 27th
Multiple Choice
Identify the choice that best completes the statement or answers the question.
What is the solution of the equation?
____
1.
16 = –d + 6

	a.
	10
	b.
	–10
	c.
	–9
	d.
	–15


____
2.
Hannah wants to buy a $570 camera. She can save $50 each week from her paycheck. However, before Hannah can buy the camera, she must give her brother $80 that she owes him. For how many weeks will Hannah need to save before she can pay back her brother and buy the camera?

	a.
	15 weeks
	b.
	13 weeks
	c.
	11 weeks
	d.
	17 weeks


What is the solution of the equation?
____
3.
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	a.
	–1
	b.
	6
	c.
	9
	d.
	–4


____
4.
Which property of equality justifies step f?
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	a.
	Multiplication Property of Equality

	b.
	Subtraction Property of Equality

	c.
	Division Property of Equality

	d.
	Addition Property of Equality


What is the solution of the equation?
____
5.
3x – 9 [image: image3.png]


 5x = –7

	a.
	–3
	b.
	0
	c.
	–1
	d.
	2


____
6.
5d – d – 2d + 8 [image: image4.png]


 3d = 0

	a.
	–5
	b.
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____
7.
Angela and Neil are going to the movies. They each bought a medium popcorn, and Neil got a small soft drink. Angela had a $10 gift certificate to put toward the cost, and Neil paid the rest, which came to $19.30. A movie ticket costs $9.00 and a medium popcorn costs $4.40. How much does a small soft drink cost at the theater?

	a.
	$6.90
	b.
	$1.30
	c.
	$15.90
	d.
	$2.50


What is the solution of the equation?
____
8.
3(y – 5) + 2 = 5

	a.
	4
	b.
	7
	c.
	–4
	d.
	6


____
9.
70 = –7(–2 – 2z)

	a.
	4
	b.
	–28
	c.
	–112
	d.
	784


____
10.
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	a.
	22
	b.
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	c.
	4
	d.
	18


What is the solution of the equation?
____
11.
–4x – 9 = –5 – 6x 

	a.
	4
	b.
	1
	c.
	–1
	d.
	2


____
12.
 A copy center offers its customers two different pricing plans for black and white photocopies of 8.5 in. by 11 in. pages. Customers can either pay $0.08 per page or pay $7.50 for a discount card that lowers the cost to $0.05 per page. Write and solve an equation to find the number of photocopies for which the cost of each plan is the same.

	a.
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	c.
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	b.
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	d.
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What is the solution of the equation?
____
13.
[image: image18.png]



	a.
	1
	b.
	–1
	c.
	0
	d.
	2


____
14.
Which equation is an identity?

	a.
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	c.
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	b.
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	d.
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____
15.
Nina wants to download games for her video game console. Older games cost 250 points and new releases cost 500 points. Nina has 7500 points to use. The equation [image: image23.png]


, where a is the number of older games and b is the number of new releases, models the situation. How many older games can she download if she downloads five new games?

	a.
	20 
	c.
	 17 

	b.
	 12 
	d.
	 40 


____
16.
What equation do you get when you solve [image: image24.png]oy of - 2



 for y?

	a.
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____
17.
A flock of Canadian geese migrated 1623 miles in 28 days. What was the average rate at which these geese traveled in miles per day?

	a.
	73 miles per day
	c.
	47 miles per day

	b.
	113 miles per day
	d.
	58 miles per day


____
18.
Car A travels 180 miles in 7 hours. Car B travels 350 miles in 4 hours. Car C travels 584 miles in 15 hours. Which car has the fastest average speed?

	a.
	Car A
	c.
	Car C

	b.
	Car B
	d.
	They all have the same average speed


____
19.
A car is driving at a speed of 45 mi/h. What is the speed of the car in feet per minute?

	a.
	3,960 ft/min
	c.
	237,600 ft/min

	b.
	1,935 ft/min
	d.
	2,700 ft/min


What is the solution of the proportion?
____
20.
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	a.
	56
	c.
	168

	b.
	672
	d.
	576


What is the solution of the proportion?
____
21.
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	a.
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____
22.
A package delivery company has determined that they can meet their schedules if they have 4 drivers for every 30 square miles of area they cover. If they want to offer service to a county of 75 square miles, how many drivers must they have?

	a.
	12 drivers
	b.
	10 drivers
	c.
	15 drivers
	d.
	9 drivers


In the diagram, the figures are similar. What is x?
____
23.
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	a.
	18 cm
	b.
	11.9 cm
	c.
	14.1 cm
	d.
	5.8 cm


____
24.
A flagpole casts a shadow 10 ft long. A girl standing next to the flagpole casts a shadow 2.5 ft long. If the girl is 5 ft tall, how tall is the flagpole?

	a.
	18 ft
	b.
	12.5 ft
	c.
	15 ft
	d.
	20 ft


____
25.
A scale model of a city has scale of 1 cm : 2.5 km. Two buildings in the model are 1.7 cm apart. To the nearest tenth of a kilometer, what is the actual distance between the buildings in the city?

	a.
	16.8 km
	b.
	6.8 km
	c.
	4.3 km
	d.
	6 km


____
26.
A dress that normally costs $69.50 is on sale for 45% off. What is the sale price of the dress?

	a.
	$38.23
	c.
	$24.50

	b.
	$31.28
	d.
	$1.54


____
27.
What is the total cost of a $56.53 meal at a restaurant after including a 17% tip?

	a.
	$3.33
	c.
	$66.14

	b.
	$9.61
	d.
	$39.53


____
28.
125% of what number is 264?

	a.
	21.1
	c.
	211.2

	b.
	2112
	d.
	2.1


____
29.
You deposited $600 dollars in a savings account that earns a simple interest rate of 1.5% per year. You want to keep the money in the account for 6 years. How much interest will you earn?

	a.
	$54
	c.
	$654

	b.
	$3654
	d.
	$540


____
30.
The viewership of a television show has decreased from 5.1 million viewers to 3.5 million viewers per episode. Find the percent of decrease in viewership to the nearest percent.

	a.
	7%
	b.
	146%
	c.
	46%
	d.
	31%


